(=) BB (D)
1LERS BE EAEWHBAL.
—IRARAR AL 35 (
(2)— M IEN TR TH AR 2 180 (
(3) = BRI ALy 3 (
(4) FE I B T AR 20 12 (
2FE .
4 dm?= ( ) cm?
6300 cm?= ( ) dm?
7m?= ( ) dm?
2000 dm?= ( ) m?
3.3HE

P42

JER S

(17

8cm

5cm

K
10m

7m

9dm

36dm?

A 6cm

EFTE

K

12m

4. BRI KISM, ER—mSELs, =M 40 KIS ERE 7k, sahriEtz b

K G AR 2 TR




5. N ELRH 1L R T . WUR BRI I 5 oK, AT A 2 AT
JiR?

6. HRAMK 37 K. %8 25 0K, SSMrRIAEIE 1 ORI, ST o DB, BRI T

AV=EZN

7. ARG 12 JEOR M BRZZ B K T R BE DT T, G i LR AN R R B, 55 DR A T
B, IHEERR AN ERR R EREIn. & FEG—AME L7 miakon 1
JEKD




2 B 1 B 2 B 3
T AR
JERS

8.9 @A) AR LR 2 1440 1 UK, JEORT SRR 2 /02 (FASZ 0 oy i
HIER o) (LA oK) i FEIA KT

20

9. RIETTTE AN S IE T TR KA 44 JHOK, RIETT T M AR 22 /0-F- 07 JE oK ?




